1 1 _
On =35 (ax + ay) + > (ax — ay)COSZH + TyySin2o

1
Ts="35 (O’x — ay)sinZH + TyyC0S20



Eksempel 11.2 (NB! Feil i figur)
40 =20 _ eo
o= _20 80 ] 6 = 45

80

40 40

1 1
On = > (40 +80) + > (40 — 80)c0s90° — 20sin90° = 60 — 20 = 40

1
Ts =5 (40 — 80)sin90° — 20c0s90° = 20
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cosf —siné
sin @ cos 6

|

o' = RToR

Oy = Oy €0S* 0 + 0, sin* 6 + 27, sinfcosd
0y, = 0y Sin® 6 + o, cos? 6 — 21,,sinfcosb
Tyryr = (05 — 0 )sinfcosO + ., (cos? 6 — sin? 6)



6 = 45°
__[cos® —sinf
R_lsine cos 6O
o' = RToR
Ox Oy
O'x,=—+7+Txy=20+40—20=40=0'n
Oy Oy
Ty, 7+7 Tyxy = 20+ 40+ 20 = 80



